2. Integral of jmm's:‘x dis
{A) log(sinx) + C
(B) log(cosx) +C
(C) log(log tanx) + C
(D) log(log sinx) + C

ttan~'x
; dxi ual to
2 ‘([(1+x‘°') =5

(A) 1 (B)

2

T
©r 3 (D)

4. The area cut off the parabola 4y =
by the straight line 2y = 3x + 12 is

(A) 15sq. units  (B) 18 sq. units
(C) 245q. units (D) 27 sq. units

5. Foranytwosets AandB,A—(A-B)

equals
(A) A-B (8) B
| (€ AuB {BrANB
# il
4 . ! =




L

[ ‘0): it agds T

’;’
.

(D) None of the above

8. Thetennhdependeﬁwfxiﬂhe

10.

‘l.
expansion of (2x+-g;) is

(A) 160/9 (B) 80/9
(C) 160/27 (D) 8073

The ggints with Posmog'vemrs

60|+3],401 8] ai- 52]are
collinear if a is equal to

AT — 40 (B) 40
(C) 20 (D) 25
A particle is projected with a velocity u
so that its range on a horizontal plane
is twice the greatest height attained,
the range is
22 u?
A) — B) —
(A) 39 (8) 29
32 a4’
C‘ ez ——
(©) 29 (D) 59
TG-06/C




©
o @)’

13 3R Asi AuRwe, Aare A+B

y+2x=115
y+2x=+19
T AxB F AT FFR
(A) 0° (B) 60°
(C) 90° (D) 120°
: a2
14. 'ﬂﬁA=[-1 z]ama:[
Al AB F1 9 &
0 0
el
1 410
Ok 1]
3 i)
o ]

(D) None of the above ‘

" elipse 3x2 + 4y? = 12 which are

sl Fanae-[? 7]

The equations of tangents to the

paralleltomeliney+2x=4are
(A) y+2x=14

(B) y +2x =7

©) v+2x=£15

(D) y+2x=t\/ﬁ

. If Aand B are two vectors, then angle
~ between vectors A+Band AxBis
- (A) 0° (B) 60°

(C) 90° (D) 120°

-1 2
then AB is equal to

i S
[ - i
© E }]

(D) None of the above

13




If 4 and bare unit vectors such that

4 +2band 54 — 4b are perpendicular
to each other, then the angle between

aandbis :

n (1
iy B (3)
© (2] ©F
The distances travelled by a body

19.

falling frgety from rest in the ﬁrst.




(A) maximum value atx=0
' (B) minimum value at x = 1

(C) maximum value atx =~ 1 .

(D) neither maximum nor minim \

value

It o, B, yare the roots of the equa

x3+ px? + gx + r = 0, then
o?B%+a?y2 + B2y2isequalto

(B) g%+ 2pr (A) 92— 2pr (B) g2 +2
(D) q? - p? (C) 92+ p? (D) g2 -

Hah

}f sinx cos x

0 °°82X~R§cosx+2

dx is e

3 o
Qliloge ©) 1

l1zis acomplex number of unit

and argument 0, then arqg(
equal to arg ;




Y i,

27.

A3 |1

©2 = okl

»

A stone thrown up is ca'ug’ﬁ_t'ﬁ( the
thrower after 6 sec. What will be the
velocity of stone after 2 sec of its
throwing ? (g = 9.8 m/s?)

(A) 9.8 m/s
(B) 10.2 m/s
(C) 19.6 m/s
(D) 20.0 m/s
28. Ram can throw a ball vertically to a
maximum height of 40 metres, then he
~can throw the ball in horizontal direction
to which maximum distance ?
(A) 40y2 metre (B) 20J§ metre
| (C) 20 metre (D) 80 metre
=5 &
i ‘ . < l'.



(B) b—a-1
(D) a+b+1

+)4 - (1 - i)t R

e 1
?h.-xs-x-s'ﬁlﬂ'ﬁi}

Ifone zero of the third degree poly
x3+ax?+bx +cis— 1, then the pro
of other two zeroes is

(A) b—a+1 (B) b—a—1
(C)a-b+1 (D) a+b+1

It i=V=1, then (1 +i)* = (1 —i)*is
equal to

(A) —4i B) 4i
©) o ((D; 2

1
If x* g =11, then value of x® -
may be equal to

(C) 33 Ms
Fﬂdﬁevalueofasuehmame‘ '

2i- j+k, i+2 .
coplanar - Skandai,,.a,.,,‘

(A) 1




is 21.5, the value of k will be

? (A) 3 (B) 35
| (C) 4 (D) 5
ign o ey . 2 ; ]
g : \ }MB{“ 38. |nAo.°«BC.a=2band|A_B|=§'m
(era' AR} ZCis
!a:aum 2 n n
mun‘g« {43‘“ (A) 2 (8) 3
?181860(1 A‘n A -
©) B (D) 2
. The equation of the sphere on the join of

(2,-3, 1) and (3, -1, 2) as diameter is

(A) X2 +y2+22-5x+4y +32-11=0
C(B) ¥ +y2+22+5x—4y+32-11=0

(C) ®+y2+22+11=0

(D) x2+y2+z’~’—5x+~4y-3z+11 =0

+9) Tl ( =

- ":unc-c = b — u



If three forces acting in one plﬁn"

upon a rigid body, keep the body r

equilibrium, then

(A) They must meetin a point

(B) They must be paraliel W

(C) They must either meet in apoir
or be paralle|

(D) They must be perpendicular

~

44. The system of equations
X+2=3

ax+y=2
X+y+bz=7 -
1R (a, b) e has a unique solution if (a,b)is
"ﬁt@) (2,1) | ?:;‘.klfoz)
-1,49 | ) (1.
=800, © (1,1)

Sin 32

s 93 w B _——"'—'___L-—
LY i :-M(".‘L_siérh-g;.u 79

(B) (2 19
12




@wo ® 5
©3 . @1

47. Two parallel chords of a circle of radius -
5 cm are in opposite side of the centre.
and if the chords are at distances.
3 cm and 4 cm from the centre, then
the difference of the lengths of the
chords is
(A) 10cm (B) 5cm
(C) 2cm (D) 1em

48. |If the equation
X2 +y2 4 (C—2)xy —dx—4y +¢?=0
represents a circle, then its radius is
(A) 1 (B) 2
(€) & M EFEE IWE (DS

49. Which one of the following is not a
" measure of central tendency ? -
r (A) Mean

(C) Median



(D) None of the above

a™'+p"
The value of n, for which
is the harmonic mean of a and b, i
(A) =1 B)o
© 1 © %

e

axan(cosx)'is equaito
(A) xﬁ, g

© Y1-x




g T o
"". V‘\ 'l

G yz § oD

ST Z2° Y LAk
(A) -;T'-+'——+-a—=0 'h,q:-""

b
(B) fyz + gzx +hxy =0
i (C) ax2 + by? +¢cz2=0
VY- Ehz =0 (D) ix+ gy +hz =0
3 s SFgfe ST A s AW AT | 56 A sum becomes double in 5 years in
1§ | It =TS i A T8 HH C.1. When will it become 8 times at the
. g i 318 el Tt ? same rate of interest ?
(A) 1039 (@) 1534 (A) 10 years (B) 15 years
' (D) 2074 (C) 7 years (D) 20 years

© 77

57. Solution of the differential equation

|og(%§-)=ax+by is %: =
ad’('—-cu
(A) be* + ae™ + C=0
ax  o-by -
B
(C) e + e 4+C=0
(D) 8% +bY = C(ax +by)"
&' P .
by 15. ke =& TG-06/C
e -b 2 o b qu= b
=t d“"e'ﬁ*rc} il

S i, DU B R g 1



Ify = logex + 10g,5, then whe
the value of ﬂ

(A 5 |
©o




66.

- Legy = oALog X

f \4 muim‘hrtrhnvmi' :
o E=h@x) Hix@DHRx@xR)

67.

£

then Gisequalto WYY

W0 ®& .5~ yo!
(C) 2a (D) 35@

The mean weight of 9 items is 15 kg. If
one more item is added then the mean -
weight becomes 16 kg, thenthe weight

of tenth item will be RNt
(A) 20 kg @) 15kg X3
(©) 25kg () 30kg o</
' \2
The number of generators of a cyclic
group of order 10is b it
(A) 2 (B) 3 Y
(©) 4 L o)

Ify =x¥, then -:—‘)’;wm bO ot -
(®) x* (1 - logx) f_f_w}__'
MU Hogxy * 1%~ WiE)
(D) X*+logx '5{“5’?0—- 12 <

Lap = AL+ dopt

-~



70.

.

(D) xy+yz+2zx=0

69. Three numbers are chosen at ranc

from numbers 1 to 15. The probat

that they are consecutive is
i 2
= ®) =
o 15 25
: o
© s © 35

The distance of centre of gra
uniform semicircular lamina of rad
a, from the centre is

2a




"‘" 'Wvﬁﬂw«* _

f@*@"“ *’Mﬂvw
3 ‘?fa‘}lo-ff'
™ '“‘""5'.'(!0%110-'&‘ 3s
equal to @
2A —
A TTaz et 113 1s
3
2A
©) 1-A? .8° _}5’
vp’/ * 2A5_? Fanh ¢ 4an R
b 1= tanfen B
(D) None of these
(A) Convergent
_AB) Divergent to =
(C) Divergent to ~ =
(D) None of the above 3
o TG-06/C
v ;



(A) 10mis
(C) 15 m/s

i Iannd B are two matrices sux |
 AB =B and BA = A, then A2 +

equal to
(A) 2AB (B) 2BA
JQ)"A +B (D) AB

80. If the mean of the observattons 6

5,7,xand 4 is 7, then the me
these observations is
(A) 6. (B) 6

(C) 5.5 D) 7

What is the real part of

(sinx + i cosx)4, i = V=7 7

(A) - cos 4x !

(B) —cos 2x 2 2,
CY cos 4x (&_# B)- 4 "f‘

(D) cos 2x +AD

v@cm\‘)" '5
it ‘ . &

'p-.&‘ﬁ‘).n & . -




. The equation T—---ﬁ-éﬂrl <1
represents X

(A) an ellipse
(B) a hyperbola
(C) acircle
(D) none of the above

85. The work done in movl_i]g an object
along a straight line from (3, 2, 1)
to (2, -1, 4) in a force field given by
F=4i-3j+2k,is
(A) 15 units

~ (B) 18 units
(C) 20 units 9
(D) 24 units ey

ot
~18inax tof L ¥ Ty
raeUU L gh{ht Comra

sk ,_,;q,lt&ba 48



(A) 3cm

(B) 4cm AD =
() 5om =3¢
(D) 6cm

The angle of intersection of the curves
y=4-x2andy=x2is '

(A) tan™! (;) 3

(B) tan™ [i—Jg]
” 7
" (C) tan! (ﬁ]
T
(D) >

a*—xt
88. " i!l—q}lxx _aﬂ =—1'then

(A) a=1
‘B) a=0




(D) 50 kmph

91. If the probability for A to fail in an
examination is 0.20 and that of B to
fail is 0.30, then the probability that

either A or B fails is
B0
(A) 0.50 (B) 0.54
(C) 0.44 (D) 0.45
g92. Which of the following is anopen  *
set ? ' H S
' =)
R S=11 = oo :
®s={11.3 } ¢
(B) N )

(D) S={xeR:1<x<3)

Gl

93. How many words can be formed with
the letters of the word ‘POSTMAN',

if every word begins with T and ends
R\ ‘ g L) '.' TV 3
{d 4 /‘ T L’S_?Q M‘ 3 4 Hge g

o - 5 4
v e » i \ | " \
u.&_‘(ai et e NN o et S,



2

&

s-5) “""’(4'&

97.

N

(D)0

7 1 -2 5 =0,thenthe
1 x &

value of X; +x} is

sk B) 3

2 (0o

I () = tan"x and g(x) = sinx, then
(gof) (x) is equal to |

g Yo
@ xid @ Je




103.

]

102. Two finite sets have mand n elements

B I

respectively. The number of subsets of
the first set is greater than the number
of the subsets of the second by 56.
Then the value of m2 + n? is equal to

(A) 40 T 900 i
(B) 38 a Copet Aty

e  -&ot wﬂ

(D) None of the abov K

‘Aﬁ'. —\ d=h
If the radius of a hemisphere isa, then 5
its centre of gravity from its centre is at
a distance

3a p) Sa

A it s

a 2a

© 3 © %
TG-06/C



- The number of real solutions of the
equation |x|2 - 3|x| + 2 =0 is

(A) 4 (B) 1
(C) 3 (D) 2

(D) Does not exist

- The order of the element (- i) of the
Muttiplicative group G = {1,-1,i,—i}is




a dropped packet
~ groundwilbe

b

112.

& s A% o
®) J2gh:
(D) \u? ~2gh

The greatest resultant which two forces
can have is P and the leastis Q. Ifthey
act at an angle o, then the resultant is
of magnitude

(A) JP2+Q?
(B) JP?2-Q?

() \F" cos? %/ +Q? sin” A
(D) P2 cos? o +Q?sin®a
The tangent to the curve
2at?  2at’
x=22_ vy == atthe point for
CFT < < 1412 B
whicht =~ i8

(A) 13x—16y = 2a
§B§ 13x + 16y = 2a

(A) 2 +2gh |

(©) 2gh

C) 13x—8y=4a
D) 13x+8y=4a



115,

116.

(B) 12.5¢cm
(C) 5em
(D) 7.5cm

If for a moderately symmetrical
distribution mean deviation is 12, then
the value of standard deviation is

(A) 15
(B) 12
(C) 24
(D) None of the above

The co-ordinates of a moving point
are (212 + 4, 4t + 6). Its locus will be

(A) Circle
(B) Straight ling
Gy Parabola
(D) None of the apoye




| 118.

119.

120.

If & band Gare three vectorsin
such a way that a+b+¢=0 and
|é=1B| =4 [¢|=2 then the value of

2(a.b+b.c+¢.8)is equal to

(A) 21 (B) -21
©) 19 o -2

if (b—c)2, (c—a)? (@— b)2arein A.P.,
' 1 1

then p_c'c-a’ a-b will be in

(A) H.P.

(B) G.P.

(C) AP.
(D) None of the above

If x, and x, are roots of ¥* —2x + 4 =0,
then the value of X + X3 is equal to

(A) 16 (B 8
(C) - 16 (D) 4

(-0 (ab)




3
I(e"'ondx'smlo
: |

(A) 2 (B) 8
C)o (D) -2

RN

(A) 2sing
AB) 2cos 8
(C) sin28
(D) cos 2¢




